A OB

A & B B |ff6F1A25H

I = 2 |NHESABEREEISEZN

I = B F |AEHHFHOBHRAL

F %E i #& (Fik) 25,370,000 B 15 & B i #&@RiR) 23,340,000\
T 5 {1 (Frad) 27,907,000| B & # BR ffi 48 (Fid) 25,674,000

A F F1EIAF ME g2l AL e 3@ AL HE

BIREEXEGR 23,340,500|8 % & {8 % 4L
= A EE AR (BR) 22,910,000 4% - -
¥R)HRHBTvHI TS| 25,300,0000F 3
HBEEER 19,860,000 4% 4& - -

EE1 LA EEEIT10/3—t NI é’lﬁéﬁﬁﬁﬂﬂibf:ﬁﬁﬁb‘?ﬂii@J\*Hﬁﬁ*ﬁ’@d‘i%’oo

& K&

BiiRE &AL

B 78 ALCRRD ]

IR B ()

23,340,500 M

25,674,550 H




=

%Ill
]

RHWEES BREEEKRASH

P EEEFR EBFEBAMHR—TE 39 Fith

I = % NEBRSTEMREISZEZND

I = 5 Fr ABEHH R OB R

T = & A ELRHRE
TANEERO—EICAERERETHIITETHD,
DR RFRE 42—

I E =B QEHMREEVS—
QFETREVA—
@FHHRE2—

TEEFHFH SHI6E1H 26 B

TEERFES | SM6E3A 31 B

2 £ 5 25,674,550 M

%

£




